03532413

Form P6623
Edition 1

REPAIR KITS FOR 22UWD, 35UWC, 35UWD AND 40UWD WINCHES

Refer to Operation and Maintenance Manual Form P6581 for 22UWD.
Refer to Operation and Maintenance Manual Form 6362 for 35UWC.
Refer to Operation and Maintenance Manual Form 6323 for 35UWD and 40UWD.

Important: This Form covers the Gear Case Repair Kit and the Automatic Brake Repair Kit for the 22UWD. For a listing of
the Valve Chest Repair Kit and Motor Repair Kit for the 22UWD, refer to Form P6621.

No. 35UWC-VCK1 Valve Chest Repair Kit
(For use on 35UWC, 35UWD and 40UWD)

Hlustration Number

35UWC 35UWD, 40UWD Part Number Name of Part
14 14 K5W-44 Brake Valve Disc
15 15 D02-402 Brake Valve Plug
18 18 SM450B-607-1 Valve Chest Seal
19 19 K5W-547 Valve Chest Gasket
21 21 K5W-928 Valve Chest Cover Gasket
22 22 K5W-548 Valve Chest Bolt (4)
23 23 D10-322 1/2" Lock Washer (4)
24 24 KSW-62 Brake Valve
25 25 K5W-65 Brake Valve Seat
26 26 D01-943 Brake Valve Cap
27 27 D01-946 Valve Cap Gasket
31 31 K5W-248 Spool Valve Seal (7)
33 33 K5W-249 Spool Valve Spring Cup (2)
34 34 K5W-250 Spool Valve Spring (2)
35 35 K5W-251 Spool Valve Cap
36 36 K5W-946 Spool Valve Cap Gasket (2)
37 37 B8-240 Valve Cap Screw (6)
38 38 T11-58 5/16" Lock Washer (6)
39 39 KSW-556 Throttle Lever
40 40 K5W-305 Throttle Lever Knob
41 41 K5W-557 Throttle Lever Pin
42 42 D02-524 Lever Pin Cotter (2)
43 43 K5W-255 Spool Valve Rod
44 44 599-639 Valve Rod Nut
45 45 K5W-870 Valve Rod Pin
— — FEA100-118 Valve Rod Pin Retainer
46 46 KSW-596 Throttle Lever Bracket
47 47 KS5W-AS526 Rotary Valve
49 49 21-703 Rotary Valve Bearing

214 28 UWD-161 Brake Hose Elbow

Refer All Communications to the Nearest ING ERSOLLﬂ AN D®

Ingersoll-Rand Office or Distributor.

s AIR HOISTS WINCHES




Ilustration Number

5

59
60
62
63
64
66
67
68
69
70

Ilustration Number

91
92
93
94
95
100
101
103
104

109
110
111
112
113
114
115
116
131
133
134
135
136
140
141
142
143
144
145
146

No. 35UWC-MK1 Motor Repair Kit
(For use on 35UWC, 35UWD and 40UWD)

Part Number

D02-303A
K5W-520
D02-317
D02-330
K5M-509
K5W-511
KU-510
KU-518
KSW-507
215-13
KU-504
KU-337
KU-338
K5W-514
1LA902A9-589
K5W-592

No. 35UWC-GCK1 Gear Case Repair Kit
(For use on 35UWC)

Part Number

HU-518
UWC-317
UWC-313
UWC-315
UWC-754
UWC-730A
HRA20A-322
23-71
UWC-278
D10-354
D10-322
UWC-365
215-43
215-44
UWC-366
UWC-363
UWC-360
UWC-361
UWD-119
UWC-698-30
K6U-381
UWC-469
UWC-340
UWC-137
UWC-298
UWC-665
UWC-661
UWC-662
UWC-660
UWC-663
PDA312-28
D02-321

Name of Part

Vent Cap (2)

Crank Lock Pin

Crank Lock Pin Nut

Crank Lock Pin Cotter
Connecting Rod (5)
Connecting Rod Bushing
Connecting Rod Ring (2)
Crank Bearing (2)
Cylinder Gasket (5)
Cylinder Bolt (20)
Cylinder Bolt Washer (20)
Piston Ring (5)

Oil Regulating Ring (5)
Wrist Pin (5)

Wrist Pin Retainer (10)
Motor Gasket

Name of Part

Motor Pinion Bearing

Inner Pinion Bearing Retainer
Outer Pinion Bearing Retainer
Motor Pinion Seal

Pinion Needle Bearing

Drum End Ring Gear Bolt

1/2" Lock Washer (12)

Planet Frame Bearing (2)

Wave Washer

Stabilizer Bar Bolt (6)

1/2" Lock Washer (6)

Planet Gear Shaft (3)

Shaft Lock Nut (6)

Shaft Lock Washer (6)

Planet Gear Roller (140)
Roller Spacer (3)

Thrust Plate (6)

Thrust Bearing (6)

Thrust Race (6)

Lock Wire (4)

Rope Set Screw (2)

Rope Drum Bearing Plate (2)
Rope Drum Bearing Retainer
Rope Drum Bearing Seal
Gearing Seal

Outer Drum Bearing

Drum Bearing Inner Seal

Drum Bearing Outer Seal
Drum Bearing Retainer

Drum Bearing Cap

Drum Bearing Cap Bolt (4)
3/8" Lock Washer (4)



No. 35UWD-GCK1 Gear Case Repair Kit
(For use on 22UWD, 35UWD and 40UWD)

Ilustration Number Part Number Name of Part
81 UWD-592 Motor Cover Gasket
85 UWD-589 Motor Pinion Bearing
86 UWD-313 Inner Bearing Retainer
87 UWD-317 Outer Bearing Retainer
88 UWD-315 Motor Pinion Seal
89 UWD-318 Pinion Needle Bearing
—— 23-189 Grease Fitting (3)
— C6H20A-19 Vent Plug
100 UWD-368 Planet Frame Bearing (2)
102 UWD-365 Planet Gear Shaft (3)
103 UWD-366 Planet Gear Roller (150)
104 UWD-363 Roller Spacer (3)
105 UWD-360 Thrust Plate (6)
106 UWD-362 Thrust Bearing Race (12)
107 UWD-361 Thrust Bearing (6)
108 235-43 Shaft Lock Nut (6)
109 235-44 Shaft Nut Lock (6)
111 207-W37 Ring Gear Bolt (12)
112 UWD-322 1/2' Lock Washer (12)
114 207-W37 Ring Gear Bolt (12)
115 UWD-322 1/2"" Lock Washer (12)
117 UWD-931 Gear Case Cover Gasket
121 UWD-278 Wave Washer
122 UWD-369 Washer
123 UWD-465 Output Shaft Bearing, Gear End
124 UWD-464 Output Shaft Bearing, Drum End
125 UWD-137 Output Shaft Seal
131 K6U-381 Rope Set Screw (2)
135 UWD-665 Outer Drum Bearing
136 UWD-660 Outer Thrust Ring
137 215-37 Thrust Ring Bolt (6)
138 D10-322 1/2" Lock Washer (6)
139 UWD-662 Thrust Ring Gasket
140 UWD-661 Bearing Seal (2)
141 UWD-663 Inner Thrust Cap (3)
142 235-146 Thrust Cap Bolt (5)
143 D10-322 1/2" Lock Washer (5)



No. 35UWC-ABK1 Automatic Brake Repair Kit
(For use on 35UWC)

Ilustration Number Part Number Name of Part
149 UWC-671 Locking Dog
150 UWC-672 Locking Dog Shaft
151 DU-562 Shaft Lock Nut
152 UWC-673 Locking Dog Handle
153 D02-317 Handle Lock Nut
154 D02-330 Cotter Pin (2)
155 PDA312-56 5/8'" Washer
156 101BMP-700-1 Locking Dog Spring
157 D10-354 Locking Dog Stop Bolt
158 UWC-44 Groove Pin (2)
159 D01C-258 Washer
170 UWC-A101 Brake Band Assembly
172 UWD-104 Brake Band Clevis
173 UWD-105 Clevis Bearing (2)
174 UWD-106 Adjusting Screw
175 DU-562 Adjusting Screw Lock Nut
176 UwC-107 Brake Anchor Pin
177 UWD-108 Anchor Pin Cotter (2)
178 D10-437 Anchor Pin Washer
179 23-188 Grease Fitting
180 UwD-109 Brake Pin
181 D02-330 Brake Pin Cotter (3)
182 235-309 5/8’ Washer (2)
183 UWC-111A Brake Crank
184 UWC-113 Brake Crank Arm
186 UWD-116 Bearing, Crank End
187 UWD-117 Bearing, Motor End
188 UWC-118 Crank Spacer
189 UWD-119 Washer (2)
190 UWD-120 Crank Retainer
191 UWC-122 Crank Link
192 UWC-123 Crank Link Bushing
194 UWD-148 Crank Link Retainer
195 UWC-346 Brake Crank Cover
196 23-717 Crank Cover Bolt (4)
197 D02-321 3/8" Lock Washer (4)
199 UWC-132 Torsion Bar Anchor
200 PDA312-28 Torsion Bar Anchor Bolt (4)
201 D02-321 3/8" Lock Washer (4)
202 UWC-141 Brake Cylinder
203 UWC-142 Breather Vent Plug
204 UWC-143 Cylinder Anchor Pin
205 UWC-145 Cylinder Spacer
206 UWC-146 Anchor Pin Cap
207 UWC-144 Cylinder Clevis
208 UWC-147 Cylinder Clevis Pin
209 UWC-148 Clevis Pin Retainer (2)
210 UWC-149 Clevis Pin Washer (2)
211 UWC-286 Cylinder Nipple
212 MR-939 Quick Exhaust Valve
213 UWD-82 Reducing Bushing
214 UWD-161 Brake Hose Elbow
215 UWD-162 Hose Swivel (2)
216 UWD-163-3 Brake Hose
— UWD-727 Hose Clip



Illustration Number

147
148
149
150
151
152
153
154
156
164
165
166
167
168
169
170
171
172
173
174
176
178
179
180
181
182
183
184
185
186
188
190
191
192
193
194
195
196
197
198
201
202
203
204
205
206
207
208
209
210
211
212

No. 35UWD-ABK1 Automatic Brake Repair Kit
(For use on 22UWD, 35UWD and 40UWD)

Part Number

23-188
UWD-671
UWD-672
DU-562
UWD-673
D02-317
D02-330
PDA312-56
D10-354
UWD-188
101BMP-700-1
UWD-163-3
UWD-727
UWD-A101
UWD-104
UWD-105
UWD-106
DU-562
UWD-107
UWD-108
UWD-110
UWD-109
D02-330
235-309
UWD-111A
UWD-113
UWD-115
UWD-116
UWD-117
UWD-118
UWD-119
UWD-120
UWD-121
UWD-122
UWD-123
UWD-125
UWD-132
235-146
D10-322
UWD-141
UWD-142
UWD-167
UWD-161
UWD-162
UWD-163
UWD-164
UWD-169
UWD-82
MR-939
UWD-170
UWD-143
D02-354
D02-321
UWD-144
UWD-146
UWD-147
UWD-148
UWD-149

Name of Part

Grease Fitting
Locking Dog

Locking Dog Shaft
Lock Nut

Locking Dog Handle
Handle Lock Nut
Cotter Pin

5/8" Washer

Locking Dog Bolt
Grease Fitting
Locking Dog Spring
Hose

Hose Clip (2)

Brake Band Assembly
Brake Band Clevis
Clevis Bearing (2)
Adjusting Screw
Adjusting Screw Lock Nut
Brake Anchor Pin
Anchor Pin Cotter (2)
Anchor Pin Washer
Brake Pin

Brake Pin Cotter (3)
5/8" Washer (2)

Brake Crank

Brake Crank Arm
Brake Crank Bracket
Bearing, Crank End
Bearing, Torsion Bar End
Spacer

Washer (2)

Retainer

Crank Bracket Bolt (2)
Crank Link

Crank Link Bushing
Crank Link Retainer
Torsion Bar Anchor
Torsion Bar Anchor Bolt (4)
1/2"" Lock Washer (6)
Brake Cylinder
Breather Vent Plug
Reducing Bushing
Brake Pipe Elbow
Hose Swivel (4)

Brake Hose

Bulkhead Elbow
Elbow

Reducing Bushing
Exhaust Valve

Brake Hose Adapter
Cylinder Mounting Cap
Mounting Cap Bolt (4)
3/8" Lock Washer (4)
Cylinder Clevis

Clevis Lock Nut

Clevis Pin

Pin Retainer (2)

5/8" Washer (2)



A Atlante, Ga.
111 Ingersoll-Rand Drive
Chamblee, Georgia 30341

%Baton Rouge, La. 70816
4252 Rhoda Drive

®Daollas, Texas 75247
8901 Directors Row

*Denver, Colo. 80207
5805 E. 39th Ave.

dBoston, Mass.
2 Kunihotm Dr.
Holliston, Mass. 01746

*Charlotre, N. C. 28208
4840 Wilmont Rd.

®Chicago, Il
888 Industrial Drive
Elmhurst, lllinois 60126

@Detroit, Mich.
22122 Telegraph Road
Southfield, Mich. 48037
*Milwaukee, Wis.

®Houston, Texas 77001

6800 Sands Point, P.0. 1455 Menomonee Falls, Wis.

051

®Los Angeles, Calif. 90022
5533 East Olympic Blvd.

® Regional Sales Office and Authorized Servicenter.
A Regional Sales Office only.
* Authorized Servicenter only.

INGERSOLLRAND.

Power Tool Division
28 Kennedy Blvd.
East Brunswick, N.J. 08816

N84 W13540 Leon Rd.

*Minneapolis, Minn. 55404
Corner Franklin & Cedar

*Newark, N. J.
28 Kennedy Blvd.
Eost Brunswick, N. J. 08816

*Norfolk, Va.
1431C Air Rail Ave.
Virginio Beach, Va. 23455

®Philadelphia, Pa.
651 Park Ave.
King of Prussia, Pa. 19406 #Shreveport, La. 71106

A Pittsburgh, Pa. 15220
& Parkway Ctr.

*Portland, Oregon 97214
240 S. E. Clay 5t.

#San Francisco, Calif.
14299 Wicks Blvd.
Son Leandro, Calif. 94577

*Seattle, Wash. 98188
345 Andover Park East

454 W. 61st St.

*Syracuse, N. Y. 13208
50S Factory Ave.

ASt. Louis, Mo. 63132
1515 Page Industrial Blvd.

*Salt Lake City, Utah 84115

®New Orleans, La. 70005

939 Lake Ave. Metairie Suite G

3007 South West Temple

Washington, D. €. 20006
1666 K. St.,, N. W.

CANADA

Calgary, Alberta, T2R OE1
611 11th Ave, S. W.

Montreal, Quebec
620 Cathcort St., H3B 1M2
P.O. Box 1148, H3B 3K9

*Sherbrooke, Quebec
375 Courcelette St., JIH 3X4
Box 1500, J1H 5M3

Sudbury, Ontario, P3A 3T3
P.O. Box 2220

* Authorized Servicenter.

Ingersoll-Rand Canada Inc.
Montreal, Quebec, H3B 156
630 Dorchester Blvd. West

*Toronto

255 Lesmill Road

Don Mills, Ontario M3B 2V1

*Vancouver
British Columbia, V6A 2W7
1695 Main St.

Winnipeg, Manitoba, R3H 0M6
1234 Border St.

AUTONOMOUS COMPANIES

Egypt, Cairo

Argentina, Buenos Aires
Ingersoll-Rand North East Africa

Ingersoll-Rand Argentina

S.AlyC. P.O. Box 820
Casilla Correo 2412, Correo Central 23A Ismail Mohamed St.
Zamalek
A © Malh
" England, London, SW1X, 7LU
Ingersoll-Rand (Australia) Ltd. Ingersoll-Rand Co., Ltd.
P.O. Box 219

Bowater House, Knightsbridge

France, 78 190 Trappes Yvelines
Compagnie Ingersoll-Rand
Avenue Albert Einstein
Zone Industrielle

Germany, 403 Ratingen
Ingersolf-Rand GmbH
Robt. Zapp Str. 7
Postfach 1380

Greece, Athens 610
Ingersoll-Rand Central Middle East
17th Floor Athens Tower
Mesogion 2-4

Hong Kong
Ingersoll-Rand Far East
19th Floor, Lap Heng House
50, Gloucester Road

India, Bombay 400018
Ingersoll-Rand (India) Private Ltd.
44 Maulana Abdul Gaffar Rd.
P.O. Box 16564, Worli

42 Moray Street, 3205 Victoria

Austria A 1120, Vienna
Ingersoll-Rand Ges M.B.H.
Schoenbrunnerstrasse 213-215/2/5

Belgium, Disgem (Brussels)
Ingersoll-Rand Benelux S.A.
Kouterveldstraat 10-12, 1920 Diegem

Brazil, Sao Bernardo
Ingersoil-Rand S.A. Ind. e Com.
Caixa Postal 911

Chile, Santiago
Ingersoll-Rand Chile
Morande 341
Casilla 126-D

Colombia, Bogota
Macquinarias [ngersoll-Rand
de Colombia, g.A.
Apartado Aero 7451

Ireland, Dublin

Ingersoll-Rand Company (Ireland) Ltd.

John F. Kennedy Drive
Bluebeli

Italy, 20100 Milano
Ingersoll-Rand Italiana, S.p.A.
Strada Provinciale Cassanese
Caselle Postale 1232
Vignate, ltaly

Japan, 106 Tokyo
Ingersoll-Rand (Japan) Ltd.
Kowa Bldg. No. 17 ,

2-7 Nishi-Azabu 1-Chome
Minato-Ku

Kenya, Nairobi
Ingersoll-Rand Mid Africa
P.O. Box 14240

Malaysia, Petaling Jaya
Ingersoll-Rand Malaysia, Sdn, Bhd.
P.O. Box No. 125

Mexico, 10 D.F. Mexico
Ingersolfl-Rand S.A. de C.V.
Apartado 41-666

Netherlands, Zoeterwoude
Ingersoll-Rand Benelux N.V.
P.O. Box 33, Zoeterwoude

Norway, Oslo 1
Ingersoll-Rand AB
P.O. Box 143-Sentrum

Peru, Lima
Ingersoll-Rand Co. of Peru, S.A.
Casilla 2261

Philippines, Makati, Rizal 3117
Ingersoll-Rand Philippines, Inc.
P.O. Box 445 MCC

Portugal, Lisbon 5
Ingersoll-Rand Lda.
Apartado 2933

Puerto Rico, San Juan 00936
Ingersoll-Rand de Puerto Rico Inc.
G.P.O. Box 1222

Singapore 22
Ingersoll-Rand Southeast Asia (Pte.) Ltd.
G.P.O. Box 2062, Singapore 1

South Africa, Alberton
Ingersoll-Rand Co. S.A. (Proprietary) Ltd.
P.0. Box 3720
Alrode, 1451

Spain, Madrid
Cia. Ingersoll-Rand, S.A.
Apartado 518

Sweden, Bromma
Ingersoll-Rand A.B.

Fack
$-16125 Bromma 1

Venezuela, Caracas
Ingersoll-Rand de Venezuela S.A.
Apartado 70588, Los Ruices

Distributors in principal cities throughout the world. Contact the nearest Ingersoll-Rand office for the name and
address of the distributor in your country or write to Ingersoll-Rand International, Woodcliff Lake, New Jersey.

AUTHORIZED [-R SALES AND SERVICE

12-HO

INGERSOLLRAND.

10H1



	P6623 Cover
	Parts Lists
	Valve Chest
	Motor
	Gear Case
	Brake

	Office Locations

	toc: 


